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Lecture 12 outline:

Behavior of conductors
 Field lines and intuition
 Concentric conductors
 Charge distribution on “lumpy” conductors (for Isaac Edelman)
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Field lines must start on + charges

and end on - charges or infinity
Consider concentric and offset conductors

 



Six charges are 
placed on a 
spherical conductor, 
which is then 
surrounded by an 
initially uncharged 
thick spherical 
“shell”. How will the 
charges rearrange 
themselves once the 
two objects are put 
together?
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Consider setup from previous slide.  There are 6 charges “Q” 
on the inner conducting sphere, and the outer sphere is 
initially uncharged.  What is the field at a distance r from 
the center of the inner sphere (where r is outside of the 
outer sphere)?

A) 

B) 

C)
  
D)  
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Conducting sphere of 
radius      has surface 
charge density

 It is then surrounded by 
a neutral spherical 
conductor.  What are the 
charge densities at
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WHY DOES      VARY WITH CURVATURE?
The picture below is an exaggeration.
Charge only varies as the 4th root of curvature 

(and even that is an approximation for ellipsoids

 

σ

σ∼K1/4
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Any equipotential could be a metal surface.

 

 

σ=ϵ0ΔEn


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9

